Central Washington University

ScholarWorks@CWU

All Undergraduate Projects Undergraduate Student Projects

Spring 2019

R/C Mini Baja: Drivetrain

Kyle Aitken
Central Washington University, aitkenk@cwu.edu

Follow this and additional works at: https://digitalcommons.cwu.edu/undergradproj

b Part of the Mechanical Engineering Commons

Recommended Citation
Aitken, Kyle, "R/C Mini Baja: Drivetrain" (2019). All Undergraduate Projects. 1009.
https://digitalcommons.cwu.edu/undergradproj/109

This Dissertation/Thesis is brought to you for free and open access by the Undergraduate Student Projects at
ScholarWorks@CWU. It has been accepted for inclusion in All Undergraduate Projects by an authorized
administrator of ScholarWorks@CWU. For more information, please contact scholarworks@cwu.edu.


https://digitalcommons.cwu.edu/
https://digitalcommons.cwu.edu/undergradproj
https://digitalcommons.cwu.edu/all_undergradproj
https://digitalcommons.cwu.edu/undergradproj?utm_source=digitalcommons.cwu.edu%2Fundergradproj%2F109&utm_medium=PDF&utm_campaign=PDFCoverPages
http://network.bepress.com/hgg/discipline/293?utm_source=digitalcommons.cwu.edu%2Fundergradproj%2F109&utm_medium=PDF&utm_campaign=PDFCoverPages
https://digitalcommons.cwu.edu/undergradproj/109?utm_source=digitalcommons.cwu.edu%2Fundergradproj%2F109&utm_medium=PDF&utm_campaign=PDFCoverPages
mailto:scholarworks@cwu.edu

R/C Mini Baja: Drive Train

By

Kyle Aitken

(Teammate: Sheynia Martin: Suspension and Frame)

MET 489C



TABLE OF CONTENTS:
Introduction
Motivation
Function Statement
Requirements
Engineering Merit
Scope of Effort
Success Criteria
: Success Scenario
esign Analysis
Approach: Proposed Solution
Design Description
Benchmark
Performance Predictions
Description of Analyses
Scope of Testing and Evaluating
Analyses
i. Design Issue
ii. Calculated Parameters
iii. Best Practices
h Device: Parts, Shapes, and Conformation
I Device Assembly, Attachments
J. Tolerances, Kinematics
k. Technical Risk Analysis, Failure Mode Analyses, Safety Factors, Operation
Limits
Methods and Construction
a. Construction
i. Description
i. Drawing Tree, Drawing ID’s
iii. Parts list and labels
iv. Manufacturing issues
v. Discussion of assembly, sub-assemblies, parts, drawings (examples)
Testing Method
i. Introduction
ii. Method/Approach
iii. Test Procedure description)
iv. Deliverables
Budget/Schedule/Project Management
a. Proposed Budget
i. Discuss part suppliers, substantive costs and sequence or buying issues
ii. Determine labor or outsourcing rates & estimate costs
iii. Labor
iv. Estimate total project cost
v. Funding source(s)

@rPo0oTPge OO0 T



10.
11.
12.
13.
14.
15.
16.
17.
18.
19.
20.

b. Proposed schedule
i. High level Gantt Chart
ii. Define specific tasks, identify them, and assign times
ii. Allocate task dates, sequence and estimate duration
iv. Specify deliverables, milestones
v. Estimate total project time
vi. Gantt Chart
C. Project Management

i. Human Resources: You are the most important human resource. Other HR

may include mentors, staff, faculty, etc.

ii. Physical Resources: Machines, Processes, etc.

ii. Soft Resources: Software, Web support, etc.

iv. Financial Resources: Sponsors, Grants, Donations
Discussion
a Design Evolution / Performance Creep
b Project Risk analysis
C Successful
d Project Documentation
e. Next phase
Conclusion
a. Restate your design title and its complete design readiness.
b. Restate your important analyses and how this contributes to success.
C. Restate your design predicted performance vs actual performance, with

respect to your requirements
Acknowledgements
References
Appendix A — Analyses
Appendix B — Drawings
Appendix C — Parts List
Appendix D — Budget
Appendix E — Schedule
Appendix F — Expertise and Resources
Appendix G — Testing Data
Appendix H — Evaluation Sheet
Appendix | — Testing Report
Appendix J — Safety Job Hazards Analyses
Appendix K — Resume



ABSTRACT

A device is needed that can power the back wheels of R/C car and allow it to drive
smoothly. This drivetrain also has to transmit power to the axles in an acceptable height range to
comply with the frame and suspension. The project was supported by a team member who
designed the frame and suspension. The design of this project consists of two sub-assemblies that
make up the drive train assembly. The transmission assembly uses gears to convert the rotational
speed from the motor to the drive shaft. The gearbox assembly also uses gears and converts the
rotational speed from the drive shaft to the output shaft which powers the axles. To transmit the
power from the electric motor to the wheels the two gear pairs and two shafts are needed. The
spur pinion is attached to the motor and mates with the spur gear to drive the drive shaft. The
driven shaft also has two u-joints at the end of it to make up the height difference between the
drive shaft and driven shaft. The gear box houses the bevel pinion and gear which mate to rotate
the output shaft to power the vehicle. This device was tested to meet the requirements of the
project. The device transmitted the rotational motion of the motor to the rear wheels of the
vehicle, had an acceptable total gear ratio of 12.5:1, met the weight requirement of less than 1
pound, and costed less than $200.



1: INTRODUCTION

Motivation:

This project was motivated by a need for a device that would compete in the Mini Baja R/C race.
It was also motivated by the author’s interest and experience in driving R/C cars. Building an R/c
car from scratch and buying the necessary parts will also help in gaining knowledge in how they

work.

Function Statement:
The R/C car needs to be able to compete in a race and a device is needed that will accept power
from the R/C car motor and transmit it to the wheels

Requirements:
The device will conform to the following requirements and be optimized for performance, cost,

and size:

Be able to compete in a sprint and off-road race

The drivetrain is required that would weigh less than 1 pound

The drivetrain must fit in the available space on the chassis plate

Accept 19740 RPM from electric motor

Transmit HP to the rear axel

Take rotary motion in one axis to a perpendicular axis

The drivetrain must have a gear reduction to allow the vehicle to drive at 20 MPH
The total cost of the drivetrain must me less than $200 not including electronic
components

Engineering Merit:

This project covers analyses that determine torque and rotational speed being transmitted. For
example an engineering equation used for this was Torque = Power / Angular Velocity. To
transmit the rotational speed, velocity ratios were used to determine gears to have compliant turn
ratios and design parameters. In supporting components forces were calculated to determine how
much stress would be applied to those parts.

Scope of Effort:
This project will not cover the whole vehicle just the drivetrain assembly. The rest of the R/C car
will be covered by the suspension and frame.

Success Criteria:

This project will need to allow the R/C car to compete while meeting the requirements of the
ASME Design Competition. This project will be successful if the drivetrain allows the R/C car to
meet the requirements and successfully drive forward at about 20 MPH. It should be able to
operate on smooth and off-road surfaces. The drivetrain components will also need to stay secure
on the R/C car while in motion.




Success Scenario:

The way this project can be successful is racing in the R/C Mini Baja Competition and being
competitive against opponents. This will be done by doing analyses to meet the requirements
giving a design parameter that can be shown in a drawing.

2: DESIGN ANALYSIS

Approach:
The approach for this project was to start with the rotational output speed from the drive shaft on

the motor and figure out how to transfer that to the rear axle. Then the housing and connecting
components were determined and designed to support the drivetrain.

Design Description:

This R/C car was designed to power the rear axle and steer the front axle. The drivetrain design
covers the power being transmitted to the rear axle and the parameters needed to achieve this. A
double gear reduction was designed for to smoothly transmit power from the electric motor to
the wheels.

Benchmark:
Schedules and characteristics of previous R/C Mini Baja projects can be used as benchmarks to
compare performance.

Performance Predictions:

The main goal for the performance of the drivetrain is that the car drives smoothly at a constant
speed. In Appendix A3, using the gear ratio calculated, the predicted maximum speed was 20.16
MPH.

Description of Analyses:

To get the R/C car to drive smoothly an analysis is done in Appendix Al to determine a turn
ratio for a constant speed. To get this turn ratio, an analysis on a double gear reduction is used
and calculated for the separate ratios in Appendix A2. When a ratio is calculated that works for
two gears, a corrected speed can be calculated in Appendix A3. Also using these gear ratios, in
Appendix A4-6 analyses on gear parameters can be calculated. Next an analysis can be done on
torque in the shafts using the power and angular velocity calculated in Appendix A7. With those
torque values, analyses can be done to determine the forces on the shafts and bearings calculated
in Appendix A8-9. To find design parameters for the shafts, an analysis can be done to determine
a minimum diameter when designing with a specific material which is calculated in Appendix
A10. With these shafts, a key width and depth can be chosen so an analysis can be done to
determine the minimum length and stresses of the key, calculated in Appendix All. In Appendix
A12, an analysis is done to determine the distance and angle between the two offset shafts.

Scope of Testing and Evaluation:

Tests will be done on the R/C car after it is built and assembled. This project will cover testing
on the drivetrain to determine the maximum speed, acceleration time, and driving ability on
different surfaces.




Analyses:
For the required speed of 20 MPH an analysis on a turn ratio is needed that would reduce the

shaft speed of 19740 RPM to 1566.6 RPM. In Appendix A1, the total gear ratio was calculated
by converting 20 MPH to an output speed measured in RPM and then dividing the maximum
speed by the output speed. This resulted in a turn ratio of about 12.5:1. To get this ratio a double
gear reduction is shown in Appendix A2 with a transmission ratio and a differential ratio. Since a
standard gear ratio for a pair of bevel gears rotating an axle in a gear box is around 3:1, a ratio of
2.5:1 was chosen to equal 5:1 for the transmission ratio to get to the total gear ratio of 12.5:1.
With these two ratios chosen, an estimated max speed of 20.16 MPH with a rotational speed of
1579.2 RPM was calculated in Appendix A3.

To get the necessary gear reduction the first pair of gears were calculated to have 16 teeth on the
pinion and 80 teeth on the gear, these calculations and dimensions of the gear pair can be found
in Appendix A4 and A5. The second pair of gears had to drive the axle shaft with the driven
shaft perpendicular to it so bevel gears had to be used. The pinion was calculated to have 12
teeth and the gear needed 30 teeth to complete the full gear reduction. These calculations and
dimensions of the gear pair can be found in Appendix A6.

To find torque power is divided by angular velocity and converted to Ib*in. Calculated in
Appendix A7, the torque on the drive shaft was 0.385 Ib*in, the driven shaft had 1.925 Ib*in, and
the axle shaft had 4.813 Ib*in. With these torque values, the forces on the spur gears were
calculated to have a tangential force of 2.31 Ib and a radial force of 0.84 Ibs. The forces on the
bevel gears can also be calculated from these values. The pinion tangential force was 3.06 Ib, the
pinion radial force was 1.03 Ib, the pinion axial force was 0.41 Ib, the gear tangential force was
3.06 Ib, the gear radial force was 0.41 Ib, and the gear axial force was 1.03 Ibs. This was
calculated in Appendix A8. With these tangential, radial, and axial forces the maximum bending
moments and bearings forces were calculated in Appendix A9. The maximum bending moment
in the driven shaft was 1.51 Ib*in and the maximum bending moment in the axle shaft was 3.48
Ib*in. Bearing A had a radial force of 2.69 Ib, Bearing B had a radial force of 0.60 Ib and a thrust
force of 0.41 Ib, Bearing C had a radial force of 1.63 Ib, and Bearing D had a radial force of 1.64
Ib and a thrust force of 1.03 Ibs.

Using the torque and maximum bending moments in the driven and axle shafts, the minimum
diameters can be found for the chosen material. For carbon steel SAE 1020 the minimum
diameters of the driven shaft and axle shaft were 0.162 in and 0.214 in calculated in Appendix
A10. For these two shafts, a standard shaft diameter above the calculated minimum was chosen
to be 0.25 in. With that shaft diameter, two carbon steel SAE 1018 shafts were chosen with key
depths of 3/64 in and key widths of 3/32 in. For the axle key the length was calculated to be 0.6
in, with a shear stress of 684.52 psi, and a compressive stress of 1369.03 psi. For the driven shaft
the length was calculated to be 0.2 in, with a shear stress of 821.33 psi, and a compressive stress
of 1642.67 psi. These calculations can be found in Appendix Al1. To find the distance and angle
between the driven shaft and the bevel pinion the u-joint lengths, connecting shaft clearance
length, and bearing height difference will need to be used. In Appendix A12, the distance was
calculated to be 1.46 in and an angle of 51.25° between the two u-joints.



Device Parts, Shapes and Conformation:

An aspect of the design that was not directly referenced in the analyses was the motor housing
size. It was designed to create small clearance between the motor and chassis plate while keeping
the motor secure. This determined the height of the center of the drive shaft which was used in
the design of the bearing housings to determine the height of the holes.

Device Assembly:
This device covers the drivetrain assembly which is split up into two main components that work
together, the transmission and the gearbox, with many parts that make up this assembly shown in
Appendix B14-16.

Tolerances, Kinematics and Ergonomics:

Tolerances for this project will need to be around +/- 0.01 inches. A small tolerance is necessary
for this project especially for parts like gears so they interface correctly. Since this device is
human operated, it is designed to drive smoothly which is why it was not designed to have the
fastest top speed possible.

Technical Risk Analysis:

The largest risk in this project is the manufacturing, specifically cutting down the stock material
to the correct size and using high powered machines. This hazard will be avoided by using safety
precautions as well as having supervision while in the machine lab. A job hazard analysis can be
found in Appendix J. The safety factor used was 2.5 for gear and shaft calculations. This safety
factor keeps the R/C car from failing under normal operating conditions and testing will be done
to ensure this.

3. METHODS & CONSTRUCTION

Description:
Most of the parts of this project need to be purchased and then assembled because it is more

practical and cost efficient than manufacturing them with the resources available. The 3-D
printing machine in the CWU lab will be used for parts related to housing or support parts.

Drawing Tree and Drawing ID’s:

In Appendix B17 there is a drawing tree with preliminary parts towards the bottom and the
completed assembly at the top. Also all the parts necessary in each sub assembly are shown
grouped together.

Parts List and Labels:

Parts list shown in Appendix C.

Electric Motor (1) Output 19740 RPM, Case Length 50mm, Case Diameter 35.8mm
Spur Pinion (1) 20 teeth, Pd=48, do = 0.375in, Set Screw Hole = 0.125in

Spur Gear (1) 80 teeth, Pd =48, D, = 1.708in

Bevel Pinion (1) 14 teeth, P4 = 8, do = 0.625in

Bevel Gear (1) 36 teeth, Pq =8, Do = 1.5in

Key (1) Width = 3/32in, Height = 3/32in, Length = 0.5in

oakrwdE



11.
12.

13.
14.
15.
16.

17.

18.
19.

20.
21.
22.
23.
24,

25.
26.
27.

28.
29.

30.

31.
32.

Drive Shaft (1) Length = 4in, Diameter = 1/4in, Key Width = 3/32in, Key Depth =
3/64in, Hole Diameter = 4mm

Driven Shaft (1) Length = 3.125in, Diameter = 3/16in, Hole Diameter = 3/32in
Adapter Shaft (1) Length = 0.89in, Diameter = 1/4in, Hole Diameter = 4mm

. Spur Bushing (1) OD =0.9in, ID = 0.25in, Length = 0.5in, Bore OD = 0.375in, Key

Width = 3/32in, Key Depth = 3/64in

Bevel Bushing (1) OD = 0.9in, ID = 3/8in, Length 0.55in, Bore OD = 0.5in

Bevel Pinion Sleeve (1) OD = 0.31in, ID = 3/16in, Length = 0.35in, Hole Diameter =
3mm

Drive Cup (2) Length = 16mm, OD = 11mm, ID = 5mm, Set Screw Hole = 4mm
Bearing ¥4 (2) OD = 3/8in, ID = 1/4in, w = 1/8in

Bearing 3/16 (3) OD = 3/8in, ID = 3/16in, w = 1/8in

Bearing Housing (1) Dimensions 1.25x0.375x1.35in, Height to Center of Hole =
0.975in, Bearing Hole Diameter = 3/8in

Gearbox (1) Dimensions 2.5x2.25x3.3in, Height to Center of Holes = 1.5in, Bearing
Hole Diameter = 3/8in

Motor Housing Base (1) Dimensions 2.243x2.075x0.337in,

U-Joints (2) ID = 0.31in with set screw hole, OD = 0.55in, Total Length at 0°
deflection = 1.34in

Shaft Sleeves (3) OD = 0.31in, ID =% in, Length = 0.35in, Hole Diameter = 4mm
Bolt M4x20 (5) Attaches u-joints to shafts and bearing housing to chassis plate
Bolt M4x10 + nuts (3) Attaches spur bushing to spur gear

Bolt M4x25 + nuts (4) Attaches motor housing

Bolt M2x12 (5) Attaches bevel bushing to bevel gear and bevel bushing to driven
shaft

Screw M3x5 (2) Attaches motor to housing

Set Screw M3x4 (1) Attaches spur pinion to motor

Set Screw M4x5 (4) Attaches drive cups to driven shaft and u-joint to bevel pinion
sleeve

Pin M3x6 (1) Attaches bevel pinion sleeve to bevel pinion

Motor Housing Mount (1) Dimensions 2.243x0.138x1.421in, Height to Center of
Holes = 1.5in, Bearing Hole Diameter = 3/8in

Bearing Housing Block (1) Dimensions 1.25x0.375x0.138in, Bolt Hole diameter =
4mm

Nut M4 (12) Fastens M4 bolts

Nut M2 (5) Fastens M2 bolts

Manufacturing Issues:

The labs at CWU have the capability of manufacturing gears but not at the smaller size that this
drivetrain requires. Also the housings for the bearings need to have a hole size that is more
accurate than the 3-D printer provides, so the size will have to be adjusted after printing.

Another manufacturing issue in this design is the difference in height between the drive shaft and
the pinion gear in the gearbox. This was accounted for with two u-joints which will be held
together by an adapter shaft and the ends connected to the drive shaft and the bevel pinion.
Another manufacturing issue was that the bevel pinion shaft diameter was much smaller than the



10

u-joint inner diameter. This was modified for by designing a sleeve that can be 3-D printed to fit
between the u-joint and pinion shaft and has a hole for a pin to go through and screw into the u-
joint side hole.

When the shaft sleeves were 3-D printed to accommaodate for the difference between the outer
diameter of the shafts and inner diameter of the u-joints it was discovered that they could not
print to a close enough tolerance to fit around the 1/4in shafts and were too small and not strong
enough to be altered to fit. To solve this problem, bronze sleeves were ordered from a supplier
with a much closer tolerance and with this stronger material, holes could be drilled through the
side for the screws that will go through the u-joints and shafts. The motor housing also had issues
with tolerances when 3-D printed. The holes in the motor housing needed to be a precise distance
apart to position the spur gears to mesh correctly. Since the original 3-D printed design for this
did not work it was redesigned to be cut out of aluminum and then marked and drilled through to
give a higher precision on the hole distances. To modify the motor housing, the design was
changed to have the base of the original 3-D printed housing attached on top of the new “L”
shaped aluminum part by being bolted down. The aluminum couldn’t just be attached to the front
because the plastic did not 3-D print solid so it was unable to be threaded and screwed into. This
modification also effected the bearing housing since it raised the height of the motor and the
drive shaft, therefore the bearing housing block had to be added to keep the drive shaft bearings
at the same height.

Assembly, Sub-Assembly, Parts, Drawings:

The design of this project consists of two sub-assemblies that make up the drivetrain assembly.
The transmission assembly uses gears to convert the rotational speed from the motor to the drive
shaft. The gearbox assembly also uses gears and converts the rotational speed from the drive
shaft to the output shaft which powers the axles. To transmit the power from the electric motor to
the wheels the two gear pairs and two shafts are needed. The spur pinion is attached to the motor
with the set screw included in the part. The spur gear mates with the pinion to rotate the drive
shaft parallel to the motor and is attached to the driven shaft with the spur bushing and key. The
driven shaft also has two u-joints at the end of it to get up to the height that the bevel pinion
needs to be in the gear box. The gear box houses the bevel pinion and gear which mate to rotate
the axle shaft to power the vehicle. There are three holes in the gearbox with bearings fixed in.
The one on the front face supports the end of the pinion and the holes on the two sides support
the driven shaft.

The first part of this project to be manufactured is the key, shown in Appendix B1. Also ordered
and cut to the correct length are the three shafts which are located in Appendix B2-4. Next, the 3-
D printed support components which are the spur and bevel bushings, bevel pinion sleeve,
bearing housing, gearbox, and motor housing base located in Appendix B5-10 respectively.
Other manufactured parts shown in Appendix B11-13 are the shaft sleeves, motor front mount,
and bearing housing block. Then the drivetrain assembly drawing is in Appendix B14-16
showing all the components of the drivetrain. Pictures of the SolidWorks assemblies of the
drivetrain and the entire R/C car are shown in Appendix B18, as well as construction and device
pictures in Appendix B19-21.



11

4. TESTING METHOD

Introduction:

The main tests for the drivetrain of the RC car are determining how well it drives. The speed can
be tested for accuracy compared to calculations. This can be tested on smooth and off-road
surfaces.

Method and Approach:

The actual speed can be calculated by recording distance and time of the car once it has got up to
a constant speed. For this test a stopwatch and tape measure are needed. Once this speed is
calculated, acceleration can also be found by recording how long it takes for the device to get to
top speed.

Test Procedure Description:

Space will be needed for this testing procedure. A track won’t be necessary, but the open area in
Hogue Hall can be used with cones set up to measure distances. For off-road testing areas
outside on campus can be used. A more detailed procedure is shown in the testing report in
Appendix I.

An aspect that will be tested to ensure the drivetrain is functional is how well the gears mesh
together. This was a more difficult part of construction and had to be redesigned so the teeth
would actually mate together. This will have to be tested more thoroughly to make sure not only
that it functions, but that they also are not mated together too close or too far away. If the gears
are not mated correctly, they would be subjected to more wear effecting the sustainability of the
drivetrain. An incorrect mating of the gears could also have a potential risk of losing contact
between teeth during operation from driving off terrain or taking a sharp turn.

The first test that was done was the maximum speed test. The results from this test were lower
than the expected speeds because the device was unable to convert the full rotational speed of the
motor to the axles without skipping teeth and falling out of alignment in the gearbox. There was
also a part failure in this test with the plastic bushing breaking where it held the bevel gear to the
driven shaft. This was due to a stress concentration in the geometry of the part and a large
amount of torque in that area so to reinforce this a strong epoxy was used. Also the bearing
holding the bevel pinion in the gearbox came out due to the high rotational speed. This was
corrected by making a new part out of aluminum to cover the outer ring of the bearing and hold
it in place. After this test there were also modifications made to the project covering frame and
suspension to correct the angle of the wheels putting less stress on the drivetrain. With these
corrections being made, the speed will be tested again to compare results and see if there has
been improvement to get the speed closer to the predicted value.

The second test was the acceleration test. This tests how well the drivetrain gets the vehicle up to
its max speed and maintains that speed for an extended distance. Since manufacturing
improvements were being made up until the competition to make sure it worked, it was just
tested for functionality in a 60 feet drag race and then the results were recorded from the event.
The expected results were slower than the max speed test since this one had to start from rest, but
it ended up only being slightly slower due to the improvements made.



12

The device was also tested for functionality on off-road terrain during the event. The off-road
terrain provides a challenge for the drivetrain because of an increase of friction compared to
smooth flat surfaces because the same amount of power transferred to the axles will not drive it
as fast. In the Mini Baja course there was a section with a ramp going onto a slight downhill
covered in bark. This test was not results based since it was just a success or fail outcome. The
car drove through the bark obstacle in a practice run and in the competition making it a
successful test.

Deliverables:

Max speed will be compared to the predicted value. The ability to handle off-road terrain will
also be evaluated to see how much of a difference is made. The raw data from testing is shown in
Appendix G and the data evaluation sheets used to collect the data are shown in Appendix H.

5. BUDGET/SCHEDULE/PROJECT MANAGEMENT

Proposed Budget:

To assemble this project, 32 different parts are needed with a total of 71 parts. Since this project
has multiple expensive electronic components, the budget for non- electronic parts was set to be
no more than $200. After adding up all the purchased parts and the cost to 3-D print the other
parts the total part cost came out to be under $200 meeting the requirement. A labor cost also
needs to be factored into the budget and for this project with an estimated number of hours spent
working on it to be 116.5 so far with the actual total being 125. This increased the total build cost
to be $1377.49, but is not what the actual budget for the project is though because the principle
engineer is a student doing the project for the requirements of the MET major so labor costs are
not compensated. This leaves a budget of $127.49 to be covered by the principle engineer.

Changes in the proposed budget were made in the manufacturing process. The largest change
was due to the parts list being revised. This decreased the total cost because the original budget
accounted for the electronic parts most of which can be obtained from the extra parts the CWU
MET program has from past Mini Baja R/C cars. Another aspect that impacted the budget was
the shipping and tax costs. These costs were estimated incorrectly before they were actually
ordered, but it did not increase the total budget by too much more than originally planned. Also
the 3-D printing was done at the MEC in Samuelson Hall instead of Hogue Hall as originally
planned because the MEC charges hourly rather than by size which decreased the printing

cost. These values were determined in Appendix D.

The only change made to the budget during testing was the added labor hours. The amount of
time spent on correcting manufacturing issues want not anticipated in the proposed schedule.
When issues came up in testing, modifications had to be made to reconstruct or add new parts
and then test the requirement again. There was not any added part or material cost because the
only parts added to the drivetrain during testing were constructed out of scrap aluminum from
the CWU machine shop. These machined parts added the necessary strength in the components
to not fail under the stress from operation in testing.



13

Proposed Schedule:

For this project to be completed, a schedule is needed to give the project better organization and
optimization of time. This schedule covers deliverables of a draft proposal, analyses,
documentation, a final proposal, part construction, device construction, and the MET 489 course
required deliverables. Each of these milestones also have tasks that need to be completed in order
to reach the milestones. The total time estimated it would take to complete all designing,
constructing, and testing of this project was 143.5 hours with 128 hours estimated up though
construction. The actual total up to date hours spent on this project so far is 123.5 hours and the
actual subtotal for construction was slightly higher than the estimated time due to scheduling
issues. This schedule is mapped out in the Gantt Chart in Appendix E1 and E2.

A scheduling issue that was run into was the 3-D printing taking over a week after delivering the
STL files due to all of their printers being down except one. This caused the project to be slightly
behind on the second manufacturing milestone with those parts in progress. Luckily multiple
parts were able to be printed at the same time so once the order went through all seven 3-D
printed parts would be received. To get back on track the first steps of manufacturing the three
shafts had to be moved up to the fifth week of winter quarter and altering 3-D printed parts for
press fits had to be moved back.

Redesigns also had an impact on the schedule. The original proposed design and analysis was not
expected to work exactly as planned, but with multiple parts added and others edited along with
slight modifications in the overall design, the project got off schedule. Changes had to be made
to the Gantt Chart during construction, but that got the project back on schedule and allowed the
device to be assembled and working by the deadline.

Revisions in the schedule had to be made to accommodate for testing reports and the
competition. The device had to be working reliably by these deadlines to be successful in the
tests. When testing the device for functionality, issues were found that needed modifications
which affected the schedule. The major device issues that came up while testing were the bevel
bushing breaking and the front bearing slipping out of the gearbox. This was resolved by
manufacturing a new bushing out of aluminum and a plate to attach to the gearbox to hold the
bearing in. To stay on track, extra hours were added into the schedule for these modifications.

Project Management:

This project will succeed due to the availability of appropriate technical expertise and resources.
Easily obtainable test equipment is available to use for this project to test its effectiveness. The
principal engineer will provide expertise in designing, constructing, and testing a mechanical
device and their resume is shown in Appendix K.

6. DISCUSSION

The goal of this project was to determine a way for the device to transmit power to the wheels
and then design for more efficient and optimized ways of doing that. At first the design idea was
to power and steer the front axle of the R/C car which could have been done, but was providing
problems with interference between the steering and the drivetrain. A rear axle powered design



14

introduced advantages for the R/C car by making the assemblies less complicated therefore
decreasing the chance for error. This also spread out the components on the chassis plate giving
more options for orientation of the attached parts. The spacing of parts worked out with the final
design well because this drivetrain uses a double gear reduction which takes up more space that
some other drivetrain designs. The previous design also didn’t leave enough space for the critical
electronic components like the motor, speed controller, receiver, and battery needed to drive the
vehicle.

The analyses were very crucial to the design of this project because most of the drawings had a
design parameter that was reliant on an analysis calculation. An example specific to this device
would be a gear because there is no good way to design a gear without having calculated
parameters to use for the most important features in the gear. Design limitations were also found
through analyses by calculating the minimum allowable shaft diameter for the amount of torque
on the shafts and calculating the maximum range the universal joints could offset the height of
the two shafts.

Once parts were 3-D printed, modifications were needed to be made. Specifically on the Bearing
Housing, Motor Housing, and Gear Box the hole sizes were purposely designed with too high of
an interference fit with the bearings. Since the bearings needed to be applied to those parts with
force fits, the 3-D printer didn’t have the precision necessary for this type of fit. Therefore, the
parts were designed to be 3-D printed with hole diameters of 0.370 inches for the bearings with
outer diameters of 0.375 inches. Then, the holes would need to be reamed out to a range of
0.3740 to 0.3745 inches.

Many changes had to be made to drawings and the parts list during construction. Multiple parts
had to be added to the parts list and new drawings had to be made and updated into the assembly
model. Since the principle engineer had limited experience working in machine labs and building
mechanical devices, the original proposed plans had to be altered. Also in the design and analysis
phase, not enough plans were made for combining this project with the other project covering the
other half of the R/C car. Components added to connect the two projects were the drive cups and
the design of the gearbox had to be altered to account for the frame being lower than anticipated.
These unplanned events affected the schedule which had to be frequently changed throughout the
months of construction with extended hours added towards the end.

Once the device was functioning, it was clear that testing needed to be done to pinpoint areas that
need improvements. While it was a working device, optimizations can be made to prepare to
complete the course and compete well against other R/C cars. An issue found in testing was the
stress concentration in the bevel gear bushing where the diameter decreases. This ended up
breaking during testing due to it having to attach the gear to the driven shaft rotating at a high
RPM and holding the gear in place while under additional pressure from the pinion gear. To
solve this the bushing was manufactured out of aluminum so the shape could be kept the same,
but the material strength was increased to be stronger than the plastic. This improvement also
helped with off-road driving since with the increased friction from an uneven rough surface,
there is more stress put on the gears to rotate the axles at the same speed. This was shown to be
successful in testing because after the modification was made, the device was able to drive off
the jump and through the bark obstacle of the Mini Baja course.



15

Overall there is not much financial risk in this project as the most expensive parts are the tires
and electronic components. Also the total price being $127.49 is reasonable for the types of
components necessary for the project. A preliminary design that had a large impact on the budget
was the gearbox being solid without any cutouts besides the bearing holes. This design resulted
in a lot of unnecessary material being used and adding to the price. To counteract this problem in
the next design, some sections were cut out of the gearbox which ended up decreasing the
volume of the gearbox from 7.42in® to 3.88in® and drastically decreasing the printing price for
the part.

7. CONCLUSION

The design of the drivetrain for the Mini Baja R/C car complies with the requirements needed for
a successful device to be built. This device has been planned out, analyzed, and designed to meet
the function requirements for an R/C car drivetrain. The necessary parts have been specified that
work with the design and did not run into any major problems with components in analyses.
These requirements work for a successful senior project because of the engineering merit which
was used in calculating parameters to efficiently operate the drivetrain. The most important
analyses for the design of this device were calculating torque and angular speed because with
those values, stresses and forces can be found so the drivetrain can be designed to not fail while
subjected to these unavoidable stresses and forces. The device was constructed and although it
did not meet all of the requirements of functioning consistently, the device worked to some
degree, meaning modifications can be made during testing to improve the project. The goal for
the second quarter of the project was to construct a functioning device. This goal was met by the
R/C car constructed because it was able to drive forward, and in reverse while also steering. This
was a solid foundation for a device that will be able to meet the requirements after testing and
slight modification preparing it for competition. The device was tested to see if it could drive the
vehicle and get up to its top speed and also drive through off-road terrain. When operating issues
came up, additional time had to be spent modifying and adding two parts which were then tested
again. After testing and modifications, the R/C car was able to compete in the Mini Baja
competition. This was an extensive learning experience for the principal having to plan,
construct, and test while making many changes along the way. This gave experience in time
management for a project with a long process and many requirements to meet.

8. ACKNOWLEDGEMENTS

This project would not have been possible without support from CWU having a provided
machine shop and 3-D printer. Support was given through advice from the current and former
MET faculty members: Charles Pringle, Craig Johnson, John Choi, and Roger Beardsley. Also
assistance and advice in manufacturing was given from Matt Burvee and Eric Arlt. This project
was also supported by the suspension and frame of the R/C car being designed by group partner
Sheynia Martin.



9. REFERANCES

Machine Elements in Mechanical Design — Mott

16



17

APPENDIX Al




18

APPENDIX A2

P x ] — -
GOt T o oo~ T

a) Differnpal and Transetssun

5 SQUARES

200 SHEETS — 5 SQUARES

30235 — 50 SHEETS — 5 SQUARES
— 100 SHEETS —
— 200 SHEETS — FILLER

3-0236
3-0237 —
3-0137

&

(\C(’OI‘"MC"\,{N( OY[[‘CCH::\M\I pp0 < 2.5 I

1otal

’TAW’;/'\V‘,‘;"U"\ Qﬂ].,} e m ~ lzz\;g k. S.OCI

P% O&E\\ (&Qv" (Y

Bed  dotal  fuen pad® Bofgi

Torsone o {51




APPENDIX A3

19



APPENDIX A4




3-0235 — 50 SHEETS — 5 SQUARES
3-0236 — 100 SHEETS — 5 SQUARES
8-0237 — 200 SHEETS — 5 SQUARES
3-0137 — 200 SHEETS — FILLER

COMET

APPENDIX A5

Mivken

MET 4%9 R(

- dren
\JLC(;N‘]'\ ‘\;)"N\(- Si006  of leangy gsion  Titen
Sp-"' (.,c”‘ o  Mate ?‘uxol\
5 \ - v |
\YJ‘ VS Yeans, (reee Ned e
( e 19710 RY
RV YR= = s e o A
n g 5
< \/ [ (7
VR= & N = (A (3 =
Np
| L2 15 /{wﬁf ! whd")
( Pl LT =0l
= LIS \.703 i/
I e
p= D bb7 Db
Vl P ® 4‘&-
i\
& lejr\‘)
( 20
~ I \
0 >% o plaEr L 0260)
\iamed ¢4 lJI ‘/(v = 2 |‘.‘ 5
: £: Perbe o 93« W L
LR a7 Z o

21



APPENDIX A6

Kflg | RPN MET 484 RE Gor ik siain

22

.

3-0235 — 50 SHEETS — 5 SQUARES
8-0236 — 100 SHEETS — 5 SQUARES

3-0237 — 200 SHEETS — 5 SQUARES
3-0137 — 200 SHEETS — FILLER

COMET

G\/m. Citomhs  Bowl Gear Minimam Aumber of yeerh Lor Pajon 212
Ssandach  Dinr e Pt Cur Steaighe Bewl Gears = §
Diffeential Gear Rarto = 2,911
Nepz 34T RPMm

‘:_"S‘il_" B.m(’nﬁiu'\j 0% Siea fyl]_ Bevel (ear Pouie
go”'l”"g B‘I‘c(’ftm.m' (eer RatiQ

Dimei) ke BAe 3
Nuwbice 0F 4{(4‘\,’ N‘):E
o Pianioa
()zr }zfz*" % ,n(].__ Z'S
"/".,'r‘ b.( \—/ Jcﬂ\\ ' : e
A (]m( N /f'”[’\‘ /Y\/P) = /z,g\(n] =
[t | ; 49
Jut ot R ¢ el r%: 3 i e x;'S = Is39.2 RMM
D¢ ] ‘ 12 ;
[itch s yers 5 NP o 5 LS,,\
Dl( 4ecS & |"¢l 3 i
be L mhiie i,
-5 - B
p'”z‘ (anc A/‘ﬂ/(" 9= HA"/:’TP) & .)m"(';lo) = 2180
(4 T
1 -1 (2] o
r: Yan {‘7“:\, +*n (?E) - b%,lo
()uin (one  Lisgerce: 0_ (0 (| _ og}{;;;) 201
3ia (1) Sm{m\ o

Viion | e Ul g = 030 = (32019 = 0406 10
Face (1dady UhL<F< 068 > F20.05050

Meor lont Distonc = By = 0SF = 208 (O65) =
Mean  Crcculer Pitcht "":(m\('i”‘) {Q\[w\
Mean Walkioy Dephy, h = &*_3 "

LIWW\LQ . c =z

i




23

Kyle  Miken MET 434 RC Gr Deivedpain /o
Mean  Addendum Fuctoc! ¢ = 0,200 5 (t:‘_;q‘! SRR 9_,_15_(_7_

' (ar Mean Addindun’ dy, = Crhs (,ué)/fz’) = 0,058

Qoo Paan plean fddindum:  Ag = |- 3 21-gsd = 0.156in

%%ég Gear  Mann Dedenlun: b, 2 huica 28200 G = 0.182 in

;;;; Fain feon Dedondstm’s  bp = o= wp = L2306 =156 > 0.080:n

i i i : , o

- I

JAETE Panipn Dedndun gl G - (58 = () - 2300

2333 (e Ouse Addendum Koo = A+ SErab =05+ [SILET) tanfz)

: Voo e Pldindum: oy = @pt L §F 18, = 150 # [[9)[65) 4an(6.8)

agr = 0.1909 a

. Geor Ouiside  Dimeger: D, = D3 2a,, 0 = 335 + 2[20m) cos (48.2)

Yinne  Oueside  Dismeste: &0 s e BT = L3 & z2[:1109) cos 2L §)




APPENDIX A7

A

Ll\"/‘

! ;

24

3-0235 — 50 SHEETS — 5 SQUARES
3-0236 — 100 SHEETS — 5 SQUARES
3-0237 — 200 SHEETS — 5 SQUARES

3-0137 — 200 SHEETS — FILLER

COMET

—— A
1619, 2 HN

) -

MO = 90 (

19310 P

E b \:l(’L't\ﬁP’;’\

W8 BAL M

[ —

kS Unsd pws , o of
fiflg ( o ive Shal
I\wl@\b \ \\c'..J af AS‘[Q 3‘\:&1
‘e [ ¢ oa Al Nha (S, G
[
y )l
kY ! \ | (@ \
< ) et | v
.l 7 3 ; ‘,,,‘;,_, P
'y | A4 YN
T G TAORTIA \

14,80y b1
L




APPENDIX A8

181 (G,

25

3-0235 — 50 SHEETS — 5 SQUARES
3-0236 — 100 SHEETS — 5 SQUARES
3-0237 — 200 SHEETS — 5 SQUARES
3-0137 — 200 SHEETS — FILLER

COMET

= 0,380 (b Torque of Deive S hds

77«. rué 0 Deive  Shaly

Prich D

Ve SGurt 11 .;,5. s ;'(,?’”/ “;n' [ et ;\‘“j\'s \/:—ZLY“ e 9%-1’0
e e
Circh g"““*\'\, é“: \'Sr‘ b = 3.1’9"\ Qﬂr@, \J.l«\] s O-L’g:l\
\\)w‘f (//}.cf’ af S heols
G
T = (Z.EJZ 1b
2 32| =
g\\cy{/)
Tis ‘lwfe | Corce
> o 1 £ .
‘S{f s ‘\M‘—é— o At A
‘ SR (e [
o \-‘ﬂg B-in L 864 C I\ i L“" = Q_L\ al~).%
W e | A B L A L

P“’\i‘.w\ \Zai\v' Cov(c
ben = Uy tand (o5 7 - (’%.(r‘vl L‘;\ k0 s (21.5) j)l.&‘f:‘i\,‘u

P\)(.L\ C(_,‘((Q
Wit - l,\JL san P st =

fm NN

Geas To,oer\m\ Lot

KL \%-
W S i Pyl
€6 = ST

T

[] Lol V\Am\ Cot(e

L 3
RM/ T_Q = (_Uﬁm

CETCAER T

Upss W 4o (oS 1 = (3,0(,0 Il,) o (20) cos (63.2) =[0.9 74 b
Geos Agual Sofce

Wag = W ban g smt = (3000 fmnfao) gilet,2) {103 s )

- ‘*\Sl? [h-in
wetes o Ges o NeheShol+ Q,‘s%?-\/ Phch Diapesie & oo (A D[,\,,‘\{}m“)nf\.f’\

02‘3.75,‘(,




APPENDIX A9










29

APPENDIX A10

. 8:0285— 50 SHEETS — 5 SQUARES




APPENDIX All




31

4

3-0235 — 50 SHEETS — 5 SQUARES
8-0236 — 100 SHEETS — 5 SQUARES
3-0237 — 200 SHEETS — 5 SQUARES

3-0137 — 200 SHEETS — FILLER

oia 2L 7 03%5a

1/
-a(

=
Lgn

T ]

s -
U= &7 o)

Coce Wil b Poc giP"“' (ear

S ! 015 i




N
—
<
x
(@]
Z
Ll
o
o
<




MANUFACTURING PLAN

RAW MATERIAL : STEEL

OP.

A CHINE

DESCRIPTION

T

HAND SAW

CUTTO LENGTH

094

—an] (102

Lt —

[ /7] - 0.00015 | A

APPENDIX B1

UkIMSS QTP WEr SPICTID.
OWMESOks ART B MOk
FOIMvAbCrS:

FEACFOkALZ Icln

AMGUIAR: waACK 22" INWD 21°
WO HACTOMCkval 300
THEIM M ACTOMChval 2 0%

I CR OV
TOIPEAMCME PRE AMDS 11A-308%

©O0 M3 EEAIF CEAYBE

2

wWewarar-Cam
RLLR[Y A

DEAWK
whnakr
sCall

EYIF AFEtTH
Iedeld
L1 H
-l

$EE

Key

PART &

33

REV



34

APPENDIX B2

MANUFACTURING PLAN
RAW MATERIAL : 12L14 Carbon Steel
OP. M ACHINE DESCRIPTION
1 Hand Saw Cut Length
2 (ALl Cut Keyseat
3 Drill Press Drill Hole
4]
093 — e *

©.250 _% r 241

L Josoor[e]

r

4.000

UMIESS CIMERLEESPECIHED: masrerCam
DRAEREIHE AFE IN INCHES Pam ¢ 1327058 :
ICERANCES: Drive Shaft

WRAC NG 21115

ANCUIAT MACH 25° BEND 1°

1@ PIACE DECKIAI 000 CYIE ANCEN

INREE PIACE DECKaAI 200G DRAM N Ve SEE REV
PART 7

BTESET GO
TOIMRAMC MG FE ARSI Y1e 56004 ME] L
00 KOFSCAIF DRAWRG SCAIE 'z

5 4 3 2 1



MANUFACTURING PLAN

RAW MATERIAL : 12L14 Carbon Steel

OFP. MACHINE DESCRIPTION
1 Hand S aw Cut Length
2 Lathe Cut Diameter
3 Drill Press Drill Hole

#.094 —

Hr

540

H

S

35

APPENDIX B3

o

—

UMIESS QINERVEESPECPED: wewatrarlam
DMENEDHE &FE W NCHES Par? UFTER 1
ICIERANCES: Driven Shaft
WACIDNG 2 118
ANCUIAR: MAC M2 5* BEND a1°
W PIACE DECMAI 3000 CFIE ANGEN
IMREE PIACE DECMAI + D0S DRaM N 142907 SEE REY
T T Ao P bt Y14 30004 WECH! 1. PARTS
00 LATSCAIT DRAWIG SCaIE "

3 2 1



MANUFACTURING PLAN

RAW MATERIAL : 12L14 Carbon Steel

OP. MACHINE DESCRIPTION
1 Hand Saw Cutlength
2 Drill Press Drill Holes

___2HOLES
D4mm
Pand
\J

APPENDIX B4

36

REVISION: MADE HOLES PERPENDICULAR
FOR U-JOINTSTO BE 0 DEGREES APART

]

Uk TS5 O FRIEWER SPICIID - wewararlanm
Db esOks ART B BCMS )
raImEAKCrS

reacrakaldicn

ABGUIAR wACKZS® IMeD 210

WO PIACTOMChaAl 2010

TREMTPIACTOMCh Al 2005 LEAWK

BT A ORI L B

FOIMEAWCI G P ARSIY 14 S-00d

0O LOTSCAINDRAWIG sealr
3

Adaptor Shaft
::7:::"” SEZE s R EVA
1A



APPENDIX B5

MANUFACTURING PLAN

RAW MATERIAL : PLA PLASTIC

OP. MACHINE DESCRIPTION
1 3D Printer STL FILE
f
| .125
t
—a| | e 05

UMIESS QIMERVEESPECPED:
DMEPEDHE AFE W MO HES
ICIERANCES:

WRACIDNA £ 118

12 PIACE DECMAI 2000
IMREE PIACE DECMAI +00E

BTESAT Craw e
01 MEABC BG FE ABSI Y14 55004
0O kAT SCAIT DEAWKG

4 3

ANCUIAR MATH 25" BEND 41

CFIE ANCEN
DRAY N 1430019
YWECH] "
SCAaIE 2.0

SEE

37

Spur Bushing

REV
FART 10



APPENDIX B6

MANUFACTURING PLAN

RAW MATERIAL : PLA PLASTIC

OP. MACHINE DESCRIPTION

1 3D Printer STLFILE

150

-
Lol

o001 |c

2 HOLES

@.100

7.900 —

1

38

a

250 —4-‘—-4 300 |

UNIESS CIMERL BE SPECPED:
DMEPEDHE AFE N NCHES

101 ERANCES:

WACIDHA 21118

ANCUIAR MGTH (5% BEND 1"
1O PIACE DEC A 300D

IMREE PIACE DEC M « DOS DRaM Y
Tt ol T Wi Y1 04 WGl
0O KOFSCAIT DRAWRG SCALE

3

A

w3og1e SEE

A

Bewvel Bushing

FPART 11

REV



MANUFACTURING PLAN

RAW MATERIAL : PLA PLASTIC

OP.

MACHINE

DESCRIPTION

1

3D Printer

STL FILE

310 —

0
o

— .188

[

APPENDIX B7

UMIESS QINERAEE SPECIHED:
DIMENE IME ATE N INCHES
ICIERANCES:

WRACIIINAI 2 1016

ANCUIAT: MACH 157 BEND 41°
1%C PIACE DECkaAI 2000
IMPEE PIACE DEC kAL 2005
BTEET Grow M

TOIMRARC G B AbSIYIe i

0O HOFSCAIFDRAWRG

3

39

e
Bevel Pinion Sleeve
CYIE ANCEN
o L SEE PART 12 REV:
WECH] s
SCaE al A
2 1



MANUFACTURING PLAN

RAW MATERIAL : PLA PLASTIC

OP. MACHINE DESCRIPTION

1 3D Printer STL FILE

2
FanY

-

™
O

]

40

APPENDIX B8

REVISION: EXTENDED BASE
AND ADDED HOLES

A28 ————=f =

UMIESS QIMERAEE SPECPED:

DMEEDHE AFE M NCHES . i
IIETARES: Bearing Housing
HACIDNM 2 118

ANSUIAT (BT H o 5° BEND I®

IO PIACE DECMAI £ 00D CrIE ANCEN
IMREE PIACE DEC A 2005 DRAM W 130019 SEE RE\{
T oA B TR As1 Y14 004 WECHI " PART 16 A
DO KT SEAIT DRAWRG SCalE ™
3 2 1



41
APPENDIX B9

MANUFACTURING PLAN
RAW MATERIAL : PLA PLASTIC

OP. MACHINE
1 3D Printer

REVISIONS: -Decreased volume in
DESCRIFTION relation to bevel gears
STL File

-Cut top off for easier acess and
lowered bearing holes

b

for— 2 250 —w

‘@' 1 FTILHH

tog— C

UkIFSS OFRIPWEr SPICIID - PlaPlasitc

O kS ARTE BCOMMS

GTBREER Gear Box
TEACrOkAlZ Icln

ABGUIAR wACKZZ® ITVD 21

TWQ PIACFOICh Al 2010

EXIFAFET.
THRTPIACTOMCh AL 2005 oRaWk NI SEE REV
BT RO T
FOITGAR Chl G FTE ARSI 14 36004 WG br 15 PART 17 B
0O LOFSCAITORAWKG sealr 2
s 4 3 2



MANUFACTURING PLAN

RAW MATERIAL : PLA PLASTIC

APPENDIX B10

OP. MACHINE DESCRIPTION
1 3D Printer STL File
Remove Front
2 Band Saw Face
leg- 200
D [L__srez

&
¢4
4}_L

|

o o

I J

] s

R0.705

o

UNIESS QIWE P BE SPEC PED:
DMENGDHE AFE N NIHES
ICHERANCES:

WRACIDNAL £ 1116

ANCUIAR MG 25 BEND 210

1w PIACE DECMer 2000
IMFEE PI&ACE DEC A1 400G

O FEABC MG FE AbS1 Y la S-00d
0O KOFSCAIT DRAWKG

3

oRave N
WECHI

SCAIE

CYIE SICEN
2003007
133

"

|
L—i 2.075 44 t

SEE

A

42

Motor Howing Base

FART 18

REV



MANUFACTURING PLAN

RAW MATERIAL : STEEL

OP. MACHINE DESCRIPTION
1 Drill Press Drill Side Hole
@160 — N
L/ | L
—\‘
@:._E:] 0 _

APPENDIX B11

7/ |

UKITSS OFUIPWEN SPTCIrD-

O MESObS ART B BCHTS
rOIMPALCH:

rEACTakAld Icl

AMGUIAR wACKSS® ITHD $1°
WO PIACFOMCkAl 2010
TEITPIACTOIChW AL 2005

BT Cr G ITIHE
TOAMRAMCI G ARSIY 14 i
DOMOFICAINDRAWRKG

3

WEC Part® BN 40504

EYIFAFE
DRAWE e
WG kr e
iCalr 4.
2

SEE

A

Shaft Sleeve

PART 20

43

REV



44

APPENDIX B12

MANUFACTURING PLAN
RAW MATERIAL : ALUMINUAM
OP. MACHINE DESCRIPTION
1 Band Saw Cut Outer Dim
2 Mill Cut Holes

,..
n
o
o]

—{/7[001]A]
2 HOLES ¢6.125

G514 — /-/“ BORE @250 T.075 138 = |-

1051 LHLESS OTHERVUSE $PECIFIED:
(= |05 ] —o= DIMENSIOHS A RE IH INCHES

TOLERANCES: Motor Front Mount
FRACTIONAL: 1116
AHGLLAR: (A CHa$ BEND 110
TWO PLACE DECIVAL  +020 KYLEATKEN ]
THREE PLA CE DECIVAL 2005 DRAVH 2n% SIZE REV

PART 29

INIREPRE S IOW N I
1D PEANCING PRE. A 4N Y14 37007 WEIGHT 3 n

00 4O AT} DRAING $CALE | (K}

5 4 3




MANUFACTURING PLAN

RAW MATERIAL : Aluminum

OP. MACHINE DESCRIPTION
1 Band Saw Cut Quter Dims
2 Drill Press Drill Holes

APPENDIX B13

/60T [A]

2 HOLES

e 1.000 ———  |=—.125

UMIESS CIMERWEESPECIHIED:
DWIENSIDNS AFE IN INCHES
ICIERANCES:

PRACIONAR 116

ANCUIAT MACHKI S® BEND 31°

WO PMIACE DECkA 2000
INFEE PIACE DECIAI 400G

INIFEP R R CHOwA HIRET
101 A DTG P R 4 W04 ¥ 1435000

0D 4OI MTA 1 DRANING

3

DRAWN
WECHI
SCaIE

CYIE S IICEN
2020017
s
2

| SEE

A

45

Bearing Housing Block

PART 30

REV



9.547

APPENDIX B14

REVISIONS:

-FLIPPED ALIGNMENT
OF MOTOR HOUSING
-ADDED NUTS AND
EDMTED GEARBOX

Oloo0T &)

UMIESS QIMERWEESPECIHIED:
DIIENSIDNS ATE IN INCHES
ICIERANCES:

FRACIIDNAI 11E

ANCUIAR: MACHE S BEND &1*

WO PACE DECkA £ 00D
INFEE PIACE DECka&1 200G

INIFEP R GOV HRET
101 FEA TG P PE. 404 ¥ 143500

00 W01 3TA I DEANING

3

46

TEM NO.| PART NO. DESCRIPTION QTY.
1 1 Motor 1
2 17 Gearbox 1
3 16 Bearing Housing 1
4 8 Driven Shaft 1
5 19 -Joints 2
& 18 Motor Housing Base T
7 7 Drive Shaft 1
8 9 Adaptor Shaft 1
2 [ Key 1
10 2 Spur Pinion T
11 3 Spur Gear 1
12 25 Screw M3x5 2
13 28 Fin Wi3x& T
T4 23 Bolt MP2E 4
15 15 Bearing 3/16 3
LS 22 Bolf MdxT0 3
17 31 Nut M4 12
18 30 Bearing Housing Block 1
1% 29 Motor Front Mount 1
20 21 Bolt Mdx20 5
21 10 Spur Bushing 1
22 27 Set Screw Mdxb 4
23 26 Set Screw M3x4 1
24 11 Bewvel Bushing 1
25 13 Drive Cup 2
2§ 14 Bearing 1/4 2
27 20 Shaft Sleeve 3
28 5 Bevel Gear 1
29 24 Bolt M2x12 5
30 12 Bewvel Pinion Sleeve 1
31 32 Nut W2 5
32 4 Bewvel Pinion T

Drivetrain Assembly
CIEAIICEN
DraWwN 120079

WEICHI
SCaIE

1A

| SHEET10F3
A




47

APPENDIX B15

GEARBOX ASSEMBLY

B ot
J| |

w4 —

&

SECTION B-B
SCALE1:2

SECTION C-C
SCALET:2

UNIESS QINERWEESPECIFIED:
T e Drivetrain Assembly

FRACIHONAIZ 1 N1E

SECTION A-A G Pt DICkIAL D30 i ancen

SCALET:1.5 INFEE PIACE DECKAI 2006 DRAWN 100 SEE REVY
e wesw s A SHEET2 OF 3 B
0O §OI MTA T DRAWING SCaIE la

3 4 3 2 1



23

[[]

] doF

— F =

T

SECTION C-C
SCALET : 1

APPENDIX B16

48

!

—— i e o o

)

UNIESS QIMETVEE SPECPED:
DMEPEDE &FE N MCHES

IS ERANCES:

FRACIDNS & 118

ANCUAT MACH S° BEND.I®
1Y PIaCE DECMAL 2 000D
IMFEE PIACE DECMAI 4« D05

BT CrOw ML
TOIMPARCIG PR ARSIV i
DO FArSCAIFDEAWKG

3

A4

i

SECTION D-D
SCALE] -2 @

Drivetrain Assembly

CPIE AICEN
DR&MN 13017 SQE REV
WECHI ATy SHEET 3 OF 3

STAIE 4 A



49

APPENDIX B17

DRIVETRAIN

Bevel Pinion

Bolt M4x20

Bearing 3/16




50

APPENDIX B18

A2 0B e

<50 Ee|m T



APPENDIX B19

51



52

APPENDIX B20




i
(S
m
X
&)
=
m
o
o
<




54

APPENDIX B21




APPENDIX C
Part ID |Part Description Part Quantity |(Buy/ Mfg/ Print
1|Motor 1|Buy
2|Spur Pinion 1|Buy
3(Spur Gear 1|Buy
4|Bevel Pinion 1|Buy
5|Bevel Gear 1|Buy
6|Key 1|Mfg
7|Drive Shaft 1{Mfg
8|Driven Shaft 1|Mfg
9|Adapter Shaft 1|{Mfg
10|Spur Bushing 1|Print
11|Bevel Bushing 1|Print
12|Bevel Pinion Sleeve 1|Print
13(Drive Cup 2|Buy
14|Bearing 1/4 X 3/8 2|Buy
15(Bearing 3/16 X 3/8 3|Buy
16(Bearing Housing 1|Print
17|Gearbox 1|Print
18(Motor Housing Base 1|Print
19(U-Joints 2|Buy
20|Shaft Sleeves 3|Mfg
21|Bolt M4x20 5(Buy
22|Bolt M4x10 3|Buy
23(Bolt M4x25 4|Buy
24(Bolt M2x12 5|Buy
25|Screw M3x5 2|Buy
26|Set Screw M3x4 1|Buy
27|Set Screw M4x5 4|Buy
28|Pin M3x 6 1|Buy
29(Motor Front Mount 1|{Mfg
30(Bearing Housing Block 1|{Mfg
31|Nut M4 12|Buy
32|Nut M2 5(Buy

55



56

APPEDIX D

Item ID Item Description Item Source Brand Info Model/SN Price/Cost ($/Hour) |Quantity (hours) [Cost Subtotals
1,25 Electric Motor eBay Mabuchi RS-540 13.19 1 13.19
2,26 Spur Pinion Amazon GoolRC 48DP 16T 1.8 1 1.80
3 Spur Gear Amazon Team Associated TC6 80T 48DP 3.55 1 3.55
4,5 Bevel Pinionand Gear  Active Powersports  HPI Racing 105551 21.99 1 21.99
6 Keystock McMaster-Carr McMaster-Carr 98830A050 0.94 1 0.94
78,9 0.25 Shaft McMaster-Carr McMaster-Carr 1327K66 16.45 1 16.45
10-12, 16-18 Printed Parts CWu MEC PLA 1 12.46 12.46
13, 27 Drive Cups Amazon Redcat Racing B00D25G9T6 7.99 1 7.99
14 Bearings 1/4 Amazon Advantage Racing Products  R168-ZZ 0.99 2 1.98
15 Bearings 3/16 Amazon TRBRC TRB-100493 1 3 3.00
19 U-Joint Amazon uxcell A16121400UX0550 8.65 2 17.30
20 Shaft Sleeves MSC Igus MS1040504 0.65 2 1.30
21,31 Bolt M4x10 + nuts cwu Fastenal M4x10mm N/A N/A 0.00
22,31 Bolt M4x25 + nuts CWu Fastenal M4x25mm N/A N/A 0.00
23,31 Bolt M2x12 + nuts Amazon uxcell M2x12mm 0.04 10 0.40
24,32 Bolt M3x5 CWuU Fastenal M3x5mm N/A N/A 0.00
28 Pin M3x6 Amazon uxcell M3x6mm 0.17 1 0.17
29 Motor Front Mount cwu N/A Aluminum N/A N/A 0.00
30 Bearing Housing Block  CWU N/A Aluminum N/A N/A 0.00
Drivetrain Total Cost: 102.52

Non-Drivetrain Parts

Battery Amazon Powerextra BO1DZACEUA 15.99 1 15.99
Motor ESC Amazon Hobbypower BOODU49XXS 8.98 1 8.98
All Parts Total Cost: 127.49




Gantt Chart

X to

indicate work

PROJECT TITLE: Mini Baja Drivetrain
Principal Investigator: Kyle Aitken

TASK:

ID

Description

Proposal
la Outline
1b Intro
1c Methods
1d Analysis
le Discussion
1f Parts and Budget
1g Drawings
1h Schedule
1i Summary & Appx

subtotal:

Analyses
2a Total Turn Ratio
2b Gear Turn Ratios
2c Speed Requirements
2d Spur Pinnion Design
2e Spur Gear Design
2f Bevel Gear Pair
2g Shaft Torque
2h Shaft Forces
2i Bearing Forces
2j Shaft Minimum Diameter
2k Key Lengths and Stresses
2l Clearance Distance Between U-Joints

subtotal:

Documentation

3a Part 1 Motor

3b Part 2 Spur Pinnion

3c Part 3 Spur Gear

3d Part 4 Bevel Pinion

3e Part 5 Bevel Gear

3f Part 6 Key

3g Part 7 Drive Shaft

3h Part 8 Driven Shaft

3i Part 9 Adapter Shaft

3j Part 10 Spur Bushing

3k Part 11 Bevel Bushing

3l Part 12 Bevel Pinion Sleeve
3m Part 13 Drive Cup

3n Part 14 Bearing 1/4 X 3/8
30 Part 15 Bearing 3/16 X 3/8
3p Part 16 Bearing Housing
3q Part 17 Gearbox

3r Part 18 Motor Housing

3s Part 19 U-Joint

3t Part 20 Shaft Sleeve

3u Part 21 Bolt M4x10

3v Part 22 Bolt M4x10

3w Part 23 Bolt M4x25 + nuts
3x Part 24 Bolt M2x12 + nuts
3y Part 25 Bolt M3x5

3z Part 26 Set Screw M3x4
3aa Part 27 Set Screw M4x5
3ab Part 28 Pin M3x6
3ac Part 29 Motor Front Mount
3ad Part 30 Bearing Housing Block
3ae Part 31 Nut M4

3af Part 32 Nut M2
3ag ANSIY14.5 Compl*

subtotal:
Proposal Mods
4a Project Drivetrain Schedule
4b Project Drivetrain Part Inv.
4c Crit Des Review*
subtotal:

Duration

Est.
(hrs)

N
ORARPAUUUINNER

o c|e|e
ORKHRERRHERUOKRRRLROOWV

=

oeeo oo
MUNUUNUUNRRERNWNRERAERREWONRRERERNNNNR

ooo

N
w
(SR8

O A NW

Actua %Con'S October

(hrs)

N WNWN WU R R

18.

ORNNRMWRNRRRRR

N

0 wN W

APPENDIX E1

X
X X
X X X
X X X
X X
X X
X X
X
X
X
X
X X
X X
X X
X
X
X
X
X
X
X
X
X
X X
X X
X
X X
X X
X
X
X X
X X X

X X X

November Dec January

X

X
X
X
X
X
X
X
X XXX

February March

Note: March x Finals

Note: June x Presentation
Note: June y-z Spr Finals

April May

57

June



5 Part Construction
5a Buy Part 1
5b Buy Part 25
5c Buy Part 2
5d Buy Part 26
5e Buy Part 3
5f Buy Part 7
5g Buy Part 8
5h Buy Part 9
5i Buy Part 19
5j Buy Part 14
5k Manufacture Part 18
5| Manufacture Part 16
5m Buy Part 6
5n Buy Part 4
50 Buy Part 5
5p Manufacture Part 17
5q Manufacture Part 10
5r Manufacture Part 11
5s Buy Part 13
5t Buy Part 27
5u Buy Part 15
5v Buy Part 12
5w Buy Part 20
5x Manufacture Part 6
5y Manufacture Part 9
5z Manufacture Part 7
5aa Manufacture Part 8

cooooooooo

cooo

oeleeoe 2|6 ¢ .
VURrrrOOUOUORR,rOOORRrOOOOOOOOOO

5ab Buy Part 21 0.
5ac Buy Part 31 0.
5ad Buy Part 22 0.5
5ae Buy Part 23 0.5
S5af Buy Part 24 0.5
5ag Buy Part 32 0.5
5ah Buy Part 28 0.5
5ai Manufacture Part 20 0.5
5aj Manufacture Part 29 1.5
5ak Manufacture Part 30 0.5
5al Take Part Pictures 0.5
5am Take Construction Videos 0.5
5an Update Website 0.5
5ao Manufacture Plan* 1

subtotal: 25.5

6 Device Construct

6a Assemble Transmittion 2
6b Assemble Gear Box 2
6c Assemble Drivetrain 2
6d Assemble R/C Car 4
6e Take Dev Pictures 5
6f Update Website 5

subtotal: 11

7 Device Evaluation

7a List Parameters 1
7b Design Test&Scope 5
7c Obtain resources 1
7d Make test sheets 3
7e Plan analyses 2
7f Test Plan 2
7g Perform Evaluation 6
7h Take Testing Pics 1
7i Update Website 0.5

subtotal: 21.5

8 495 Deliverables
8a Get Report Guide
8b Make Rep Outline
8c Write Report
8d Make Slide Outline
8e Create Presentation
8f Make CD Deliv. List
8g Write 495 CD parts
8h Update Website
8i Project CD

o
UIH R NUIWN AR -

subtotal: 15.

—
i
w
5

Total Est. Hours=

Note: Deliverables*
Draft Proposal
Analyses Mod
Document Mods
Final Proposal
Part Construction
Device Construct
Device Evaluation
495 Deliverables

%
<

<
<

APPENDIX E2

=Total Actual Hrs

X X X X X X X X

x

X X X

X X X X

x

X X X X
X X X X X

x

X X X X X X
P X X X X X

X X
X X X

X X X

X
X
X X X
X
X
X
X X X
X

58

x



APPENDIX F

The principal engineer has expertise on the subject from experience in other MET
courses. School resources can be used for this project but will most likely not be necessary.

59



APPENDIX G

Max Speed Test

[
o

—8— Calculated Speed

—8—Tested Speed

/\

Max Speed (m/s)
[ T S R R "2 = ) T N B = < B Vs

0 1 2 3 -

Trials

Drag Race average velocity in the two attempts were 7.43 and 7.67 ft/s.

60



61

APPENDIX H
Max Speed Test
Trial # Distance (m) Time (S) Velocity (m/s)
Trial 1 3
Trial 2 3
Trial 3 3
Trial 4 3
Trial 5 3
Drag Race Speed Test
Trial # Distance (ft) Time (s) Velocity (ft/s)
Trial 1 60
Trial 2 60




62

APPENDIX |

Test Report

Introduction:

Requirements: The requirements of this project was to allow the device to drive and
compete against other R/C cars.

Parameters of interest: Speed, Functionality, off-road driving.

Predicted performance: Speed was predicted with no losses but ended up being lower.
Data Acquisition: Timed tests and completion tests.

Schedule: The testing schedule is shown in the gantt chart in appendix B1-B2.

Method/Approach:

Resources: For the competition space was needed for the events. The Fluke lab was used
for the drag race and slalom, and the patio outside Hogue Hall was used for the mini baja.
Volunteers were necessary for these events to officiate and keep time. Tape was used to
mark the start and finish of the drag race and slalom, and 2 liter bottles were used as the
obstacles for the slalom. Wood ramps were used for the baja course and stopwatches
were used to record times.

Data capture/doc/processing: Data was recorded in tables shown in appendix A.

Test procedure overview: Resources need to be collected then trials need to be recorded.
Operational limitations: Operations were limited by the maximum power output from the
motor.

Precision and accuracy discussion: The time was recorded with a precision of 0.01
seconds

Data storage/manipulation/analysis: Time recorded, calculated with distance to determine
average speed.

Data presentation: Pictures and videos of testing are shown on the project website.

Test Procedure:

Summary/overview: This test is to determine how fast the device drives the vehicle. In
addition to this, it will also determine that the device functions.
Specify time, duration: 4/8/19, 0.5 hours
Place: Hogue Hall or outside. Any open area will work
Resources needed: Tape, tape measure, stopwatch
Specific actions to complete the test
o Step 1: Find area to do test
Step 2: Measure out 10 meters and mark with two pieces of tape
Step 3: Set up R/C car about 10 meters in front of the first marker
Step 4: Turn on car and controller
Step 5: Gradually accelerate until it reaches maximum speed
Step 6: Start stopwatch when front wheels reach first marker and stop time at
the second marker
o Step 7: Calculate speed by dividing the 10 meters by the time recorded

O O O O O



63

o Step 8: Repeat steps for at least three trials to get reliable results
Risk, safety, evaluation readiness: There is low risk in operating an R/C car with no
serious safety hazards involved
Discussion: The speed the vehicles drives needs to be tested in order to race at a
competitive speed. After this test, modifications can be made to drive at a more optimal
speed.

Deliverables:

Parameter values: Successfully drove in events, Successfully drove through off-road
terrain.

Calculated values: Speed test average of 3.63 m/s and drag race test average speed of
7.55 ft/s.

Success criteria values: Functioning, driving off-road, competing in speed test.
Conclusion:

The first test that was done was the maximum speed test. The results from this test
were lower than the expected speeds because the device was unable to convert the full
rotational speed of the motor to the axles without skipping teeth and falling out of
alignment in the gearbox. There was also a part failure in this test with the plastic bushing
breaking where it held the bevel gear to the driven shaft. This was due to a stress
concentration in the geometry of the part and a large amount of torque in that area so to
reinforce this a strong epoxy was used. Also the bearing holding the bevel pinion in the
gearbox came out due to the high rotational speed. This was corrected by making a new
part out of aluminum to cover the outer ring of the bearing and hold it in place. After this
test there were also modifications made to the project covering frame and suspension to
correct the angle of the wheels putting less stress on the drivetrain. With these corrections
being made, the speed will be tested again to compare results and see if there has been
improvement to get the speed closer to the predicted value.

The second test was the acceleration test. This tests how well the drivetrain gets
the vehicle up to its max speed and maintains that speed for an extended distance. Since
manufacturing improvements were being made up until the competition to make sure it
worked, it was just tested for functionality in a 60 feet drag race and then the results were
recorded from the event. The expected results were slower than the max speed test since
this one had to start from rest, but it ended up only being slightly slower due to the
improvements made.

The device was also tested for functionality on off-road terrain during the event.
The off-road terrain provides a challenge for the drivetrain because of an increase of
friction compared to smooth flat surfaces because the same amount of power transferred
to the axles will not drive it as fast. In the Mini Baja course there was a section with a
ramp going onto a slight downhill covered in bark. This test was not results based since it
was just a success or fail outcome. The car drove through the bark obstacle in a practice
run and in the competition making it a successful test.



64

APPENDIX J
JOB HAZARD ANALYSIS
{Insert description of work task here}

Prepared by: Kyle Aitken Reviewed by:

Approved by:

Location of Task: Machine Lab

Required Equipment

/ Training for Task: Basic Machining Training

Reference Materials
as appropriate:

Machine Elements in Mechanical Design- Mott

Personal Protective Equipment (PPE) Required
Check the box for required PPE and list any additional/specific PPE to be used in “Controls” section

Gloves Dust Mask Eye Welding Appropriate Hearing Protective
Protection Mask Footwear Protection Clothing

Use of any respiratory protective device beyond a filtering facepiece respirator (dust mask) is voluntary

by the user.

PICTURES

(if applicable)

TASK
DESCRIPTION

HAZARDS

CONTROLS

machines to cut materials




APPENDIX K
KYLE AITKEN

65

| 209 E. 14" Ave. #29 | Ellensburg, WA 98926 | AitkenK@cwu.edu | (206) 650-0047 |

OBJECTIVE

A position working as an Engineer in order to grow professionally

EDUCATION
Bachelor of Science in Mechanical Engineering Technology
Specialization: Design
Central Washington University, Ellensburg WA

Achievements/Activities

Dean’s List

ASME Club

Fundamentals of Engineering Exam

SKILLS
Auto-Cad
Microsoft Excel
SolidWorks
Machining
Dynamics: Thermo/Fluid
Physics and Statics
Strengths of Materials

EXPERIENCE
Capstone Project
Mini Baja R/C car
Drivetrain Assembly

Mukilteo Water & Wastewater District (Summer Employee)
Operate and repair on JLG lift

Inspect and operate hydrants

Assisted installation of water meters

Used GIS mapping system

Landscaping

Worked on different teams

References available upon request

Exp. Spring 2019

Winter 2018, Spring 2018
2017 - 2019
Exp. Summer 2019

Fall 2018 — Spring 2019

2015-2018


mailto:kyleaitken@gmail.com

	R/C Mini Baja: Drivetrain
	Recommended Citation

	Check1

